_array_init:
1e80:
1le81:
1e83:
1e86:
1e89:
le8c:
le8f:
1e92:
1e99:
1e9c:
1e9f:
lea5:
lea8:
leab:
leae:
lebl:
leb4:
leb7:
leba:
lebf:
lec?2:
lec3:

55
89
83
8b
8b
89
89
c’/
8b
3b
of
8b
8b
8b
89
8b
83
89
e9
83
5d

e5
ec
45
4d
4d
45
45
45
45
8d
45
4d
55
04
45
c
45

c4

Oc
Qc
08

f8
4
f4
f8
1la
4
4
fc
8a
f4
01
f4
ff
Qc

00 00 00 00

00 00 00

Ff £f

pushl
mov L
subl
mov L
mov 1
mov L
mov 1
mov L
mov 1
cmpl
jge

mov 1l
mov L
mov 1
mov L
mov 1
addl
mov 1

jmp

addl

popl

retl

%ebp

%esp, %ebp

$12, %esp

12(%ebp), %eax
8(%ebp), %ecx

%ecx, -4(%ebp)
%eax, -8(%ebp)

$0, -12(%ebp)
-12(%ebp), %eax
-8(%ebp), %eax

26 <_array_init+3F>
-12(%ebp), %eax
-12(%ebp), %ecx
-4(%ebp), %edx
%eax, (%edx,%ecx,4)
-12(%ebp), %eax

$1, %eax

%eax, -12(%ebp)

-38 <_array_init+19>
$12, %esp

%ebp



